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33. Paul Johnson spent 7 weeks at a summer camp. 34. In a class of 42 pupils, the number of
He noted that the number of cloudy days was boys is 12 fewer than twice the number
11 more than the number of rainy days and the of girls. Find the number of girls in the
\ number of bright, clear days was 14 more than class,
the number of rainy days. Find the number of
| . rainy days.
. j 35. At a school piano recital the number of outside 36. Siephan Elliott's wages were increased
] guests was 18 more than % the entire audience. $6.25 each day. Ifhe earned $81.751in
3 If there were 84 guests, how large was the audi- three days, how much did he earn the
ence? first day?
37. Noel doubled the number of magazine sub- 38. Angie Goddard's earnings from baby-sitting
scriptions he sold each week for four weeks. doubled each week for four weeks. If she
Tf he sold 32 subscriptions during the fourth earned $90 in all during the four weeks, how
week, how many did he sell the first week? much did she earn the first week?
39, Twice a certain number increased by 9 gives 35.
Find the number.

. 1« Test A—Progress Test
I 1. Ify is one part of 51, represent the other part.

2. Tf# is an odd number, represent the next odd number after #; the even number just
" preceding n.

3. Jackson is y years old and his father is 3 times as old. Represent the age of the father
o now; Jackson’s age 6 years ago; the father's age 5 years from now; the sum of their ages
8 years from now.

4 - 4. The difference between two numbers is 26. If s represents the smaller number, what

will represent the greater? If g represents the greater number, what will represent
the smaller?

11. Solve the following equations and check the resulis.

] ' 1.3x=15 2. 2x=30 3.%=12
' 4 6+y=19 5, z-7=12 6. 6a+2=20
' 7.3y-5=7 8. 11x—8x~8=10
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1L Write the necessary preliminary steps and the equations for solving the Sfollowing: -
olve the equations. Lol .

problems; but. do not §
o tworooms by ap

1. Aroom38 feetlong is divided int
of the new rooms is 6 feet longer than the other, how

5. After the price of a CD player had been
_ $48. What was the original price?
3. Carol sold § as many magazines as Tom.- If io
did each sell?
gle is 27 inche

4. The perimeter of a trian
first side and the third side is twice as

artition runping across it. one -
long is each of the new £OOMS? P

reduced by Lofits original price, it was sold for-
gether they sold 35 magazines, how many

s. The second side is 3 inches longer than the
ide. How long is each side?

long as the frst si

Test

one of the pieces is x inches

Test B— Empmvemem
30 inches long is cut into two parts. It

1. 1. Apiece of ribbony
umber of inches in the other piece.

long, represent the n
aumber, represent the even number just precedin:

g e; the odd number

2. ffeisaneven

just after e.
umbes, what repre”

4, If g represe: ts the greater I
. mumber, what represents the greater?

ceds another by 1
the smaller.mi

3, One unber €XC

the smaller? 1 s represents
nt the cousin’s age now;

sents
4. Marissa is yearé old and her cousin is twice a8 old. Represe
Marissa’s age 7 years ago; the cousin’s age 11 years from now; the sum of their ages
5 yeaxs from NOW. ’
11 Solve the following equations and check your results.
= 1, = 3.=
1. 5x=30 2.3x-8 3. 4F31--12
4 a+11=17 5. b-8=4 6. 8z+5=29
7 S5x-2=8 B. 9x—-5x—11=17
{11, Write the necessary pre i steps and the equations for solving the following
problems; but do not solve the equations. ’ :
1. Tonita baked a total of 112 oatmeal and peanut butter cookies. She baked 18 fewer
oatmeal cookies than peanut butter cookies. How many oatmeal cookies did she
bake?
the vacation. If the older earns 3 times as much as ‘

2. Two boys together eaim. $75 during

the younger, how

many dollars does each earn?
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/ 3. Greg Porter is % as old as his father. The sum of their ages is 42 years. How old
/ is each?

4. The length of a rectangle is 4 times its width. If the perimeter is 65 inches, find the
length and the width,

Test € —Test for High Ramik

Do the following problems by forming the equations and solving them.,

1. Ninety-six persons rode in buses to an 2. Charity has 3 times as long a walk to
elementary school picnic. There were school as Michele has and the difference
5 times as many parents as bus drivers; the between the distances they walk is :.15 mile.
number of boys was 3 times the number of How far does each walk?

parents; and there were 12 fewer girls than
boys. How many bus drivers were there?

3. David earned $3 less than twice the 4. Ina class of 42 pupils, 7 more pupils received
number of dollars that Sam earned. If B than A on a test and the number who had
together they earned $51, how'was the C was 3 times the number who had A. If
money divided? in addition there was 1 less.D than A, find

% the number of pupils receiving each mark.
5. In the twelve weeks of summer vacation o
the number of clear days was 8 more than
3 times the number of rainy days. How
many rainy days were there?

6. There are 28 books on the shelf of a book-
case, of which 5 are poetry. Of the others
the number of novels is 8 more than twice
the number of essays” Find the number of
essays.

7. Abank teller gave a customer $300. She

gave twice as many fives as tens, and half
as many twenties as tens. How many
of each bill did she give the customer?

.On a trip of 80 miles, a man traveled
12 times as far by train as by boat and

4 miles less by bus than by boat. Find the
number of miles traveled in each part of
the journey.

‘Hint.. Let x = the mumber of miles traveled by boat.
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Test A—Progress Test
In Wﬁte: ) .;'. F)
1. The product of 3p and g.

2. The difference between x times y and the square of m.
3. The product of x—y and 3y + 4.
4. Three times x divided by the square of y.

5. The sum of a and twice b.

IL. Write in abbreviated form.

1. Sxxx 2. HHIFINSS 3, 6aabbb

111, Write:
1. A monomial. 2. A trinomial.

3. A binomial. 4. Two terms each similar to 5m.

V. Find the value of each of the following whenx=3,y=2,m=4n=1, and a =0.

1. 3xy - 2mn 2. t{’;-; + &£ 3. 1y

4. x* +v* B.m+xy-m+y 6. y+rm)
7. (m—n) G hy) -
\'A Colle;:t similar terms.

1, Sat+a+d+3a-24"-3-2a

2. 11x+7y+4z—5y+81—5x—~4z+2y

3. 8ab+7+5ab—4+6—-7ab

4. 9m+15n—8m—10n—-m—-5n

Test B—Improvement Test

1. Write:
1. The sum of the cube of b and the square of c.

2. The product of 52 and 2c.
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